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MATHEMATICS T Ml

SECTION -1
Choose the correct answer 4xtwid

if{ (a, 8), (6, b) ) represents an identify function, then the value of a and b are respectively
a) (8, 6) b)(8, 8) ¢)(6.8) d)(6,6)

2. Iff:A— Bis a bijective function and if n{B} 7 then n{A) is equal to
a)7 bj48 cj1 d) 14
3. The AL | i : b) c)—d)
: next term of the saquence — 16'8°12' 18 .18 a) — 24 2? 3 81
2
4. InaGPift = 1 andt = -1— then the common ratio is... O - ) -g b)5 c) 25 d) 5
5. IfAisa2x3 matrix and B is a 3 x 4 matrix, how many qolumns does AB have
a)3 b4 ¢c)2d)5
256 x®y*z" 186 |x%z* 16 y? 18| y 16 [xz’
6. The square root of —‘_—25x5ygza a) g b) xiz® 2| d) 5 y
If AABC is an isosceles triangle with ZC = 90° and AC = 5cm then AB is
a)25cm b)5cm ¢c}10cm d)5 2 ecm
8. The area of tiangle formed by the points (-5, 0) (0, -5} and (5, 0} is
a) 0 sq.units b) 5 sq.units ¢) 5 sq.units d) none of these
1
9. Ifslope of the line'PQis ‘:E then slope of the perpendicular bisector of PQ is
4 g
a) J3 b)-J3 ¢ +7~5 d)o
10. (secO + tanB) (secO — tan@) is.......a) 1 b)-1 ¢}sinG d)0 ]
11. if5x =sech and % = tan® then x2 — 2 is équal fo a)25 b) 3 c)5 d)1
12. The ratio of the volumes of a cylinder a cone and a sphere, if each has the same diameter and same height
is a)1:2:3 b)2:1:3 ¢)1:3:2 d)3:1:2
13. If the standard deviation of x, vy, z is p then the standard deviationof 3x + 5,3y + 5, 3x + 5is
a)dp+5Db)3pc)pts d)Sp+15 _ 5
; % .
14. The probability of getting a job for a person is 3 If the probability of not getting the job is 3 then the
. viaueofxis a)2 b)1 ¢c)3 d)1.5 .
SECTION - i
Il. Answer any 10 questions only. 28 question is compulsory. 10x2=20
15. FindAxBifA={2, -2, 3) and B = {1, -4}
16. Arelation f: x — yis defined by f(x) = x* - 2 wherex={-2,-1,0,3}andy=R
' i} List the elements of f ii) Is ' is a function .
17. Write an A P whose first term is 20 and common difference is 8.
18. f 12+ 22+ 3+ _+k’=44100thenfind1+2+3 + ... +k
5t3 (St-12 - A
19. Simptly 8" ot
20. In the figure, AD is the bisector of ZA
If BD = 4cm DC =3cm andAB = 6em find AC © &,
% B 4em D3cm ©
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21. Find the area of triangle formed by the points (1, —1) (-4, 6) and (-3, -5)
1+ -
22. Provethat (228 _ coseco +coto
1-cos0
23. Find the slope and y intercept of SIx+(1-V3)y=3
24. Find the volume of a cylinder whose height is 2m and whose base area is 250cm.
25. If the total surface area of cone of radius 7cm is 704 cm?.
26. The mean of a data is 25.6 and its co-efficient of variation is 18.75 find the standard deviation,
' 1 1 1
27. IfAand B are two events such that P(A) = P(B) = > and P(Aand B)= ¢ find
) P (AorB) Ii)P(notAand not B) .
28. If o.and P are the roots of x2 + 7x + 10 = 0 find the value of (a - )
- SECTION -1l : :
Answer any 10 questions only. 42 Question is compulsory. . 10x5=50
: ; X ;
29. Letf:A— B be a function defined by f(x) = 5 —1 where A= {2, 4, 6,10, 12} B={0,1.2,4,5, 9}
- Represent by i) set of odered pairs ii)a table iii)an arrow diagram iv) a graph
30. Iff{x) = 2x + 3 g(x) = 1 - 2x and h(x) = 3x prove that fo(goh) = (fog)oh
31.. In an A.P sum of four consecutive term is 28 and the sum of their squares is 276 find the four numbers.
32. Find the sum to n terms of the series 5 + 55 + 555 + ...
33 Hox*+ 123 +28% +gx+b is a perfect square, find the values of a and b.
- 1 ? ) 3 - c -
s 5 2 9 1 2 . '
M. ifA=]|, . B= - | verify that (AB) = BTAT
128" |5 _1
35. State and prove pythégorous theorem.
36. Find the area of the Quadrilateral formed by the points (8, 6).(5, 11) (-5, 12) and (-4, 3)
37. Find the equ.x_ation of the perpendicular bisector of the line joining the points A(—4, 2) and B(6,4)
_.cosB 1 L a? -1 .. 8
38. I g~ g thenprove that €. sing . . _
39. From the top-of 8 tower 50m high the angle of depression of the top and bottom of a tree are observed to
be 30° and 45° respectively. Find the height of the tree (/3 =1.732)"
40. ‘A right circular cylindrical container of base radius 6¢m and height 15cm is full of ice cream. The ice
cream is to be filled in cones of height 9cm and base radius 3cm having hemisphere cap. Find the number
of cones needed to empty the container. .
41. The marks scored by 10 students in a class test are 25, 29, 30, 33, 35, 37, 38, 40, 44, 48. Find the
standard deviation. ; i -
42. Three unbiased coins are tossed once. Find the probability of getting atmost 2 tails or atleast 2 heads.
. SECTION -V :
Answer the following X : 2xB=16
43, a)Construct a APQR such that QR = 5¢m ZP = 30° and the altitude from P to QR of length 4.2 cm.
(OR) ;
b) Draw a circle of diameter 6¢cm from a point P, which is 8¢ away from its centre. Draw the tangents PA
and PB fo the circle and measure their lengths.
44, a)Draw the graph of xy = 24, x, y > 0 using the graph find i) y when x =3 and ii) x when y = 6
(OR)
Draw the graph of y = x>— 4 and here solve x* —-x-12 = 0
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